RrggfixgF

L5 ERF

p P

PR

D7 12p (B

S

+=9:30-" = 12:30

P

& p

+ = 9:30-11:00

Pl F R R IR
[EIRER &

TR IR #p (3B
sd By PuBT Evr g
(AR 4e 4 di)

*EE A (F K o J A & 7-L/G ~ Switch % #i i~ 2%
Rl &

1+ = 9:30-11:30 BV -G/F ~ RE K-1F~ # B3k-md3)/pd SR
A g
+ = 11:30 (-) RAEER A€ A4
+ = 11:30-11:35 () ZEa
4= 11:35-11:140 | (=) k& %
+ = 11:40-11:50 | () ENRFLEI OTRAIEVTEERES
b= 11501155 | (7)) pispdp 2
b= 1155-12:00 | (=) 2025-2026 & B 75 632 3%
+ = 12:00-12:05 (5) 1% € 1R R
TE12:05-12:20 | (N R R/BERE < 4R
T T 12:20-12:25 (1) rBicEc
T 12:30 (L) =
T & 12:30-TF = FZARXEER(TEIRAELEIA)
1:00 ooBL TR e




